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Sri Ramakrishna Ashrama Institute (High School)

F.M.-40                                                                                                        Time - 1 hr 10 min

1. ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîûy õ 1x8=8

i) þA : B = 3 : 4 þ~î‚ B : C = 6 : 5 þ£öìœ– A : B : C ~îû ›y˜ £öìî éôôôé
a) 10 : 9 : 12      b) 9 : 10 : 12     c) 9 : 12 : 10     d) 12 : 9 : 10

ii) ~„þ îÄ!=þîû ›y!¢„þ xyëû 8x Ýþy„þy ~î‚ ›y!¢„þ …îû‰þ (3x - 15) Ýþy„þy £öìœ– “¤þyîû îy!¡ìÅ„þ ¢Mþëû £öìî éôôôé

a) 60(x + 3) Ýþy„þy     b) 12(5x - 15) Ýþy„þy    (c) 12(11x - 15)Ýþy„þy   d) 60(5x + 15) Ýþy„þy
iii) þA-~îû x% = B ~îû y% £öìœ– (Ax - By) þ~îû ›y˜ £öìî éôôôé  a) 100    b) 10    c) 0    d) ö„þyöì̃ y!Ýþ£z ˜ëû

iv) þ                     ~îû ›y˜ éôôôé  a) 10    b) 1042   c) 101  d) 1022

v) 1.218713 ~îû !“þ˜ ”Ÿ!›„þ ç ‰þyîû ”Ÿ!›„þ Þíy˜ þ™ëÅhsþ xy¢§¬›y˜möìëûîû öë þ™yíÅ„þÄ “þyîû ”%£z ”Ÿ!›„þ Þíy˜ þ™ëÅhsþ xy¢§¬ ›y˜
éôôôé   a) 0   b) 0.1   c) 0.2  d) 1.22

vi) - 5 öíöì„þ 6 þ™ëÅhsþ x…uþ ¢‚…Äy xyöìŠé éôôôé  a) 12 !Ýþ     b) 6 !Ýþ      c) 7 !Ýþ     d) 11 !Ýþ
vii) 16 !›!œ!œÝþyîû– 10 !œÝþyöìîûîû Ÿ“þ„þîûy éôôôé   a) 1.6 ¦þy†   b) 0.016 ¦þy†  c) 160 ¦þy†  d) 0.16 ¦þy†
viii) AB, BC, AC þ!“þ˜!Ýþ ¢îûœöìîû…y‚Ÿ ²Ì”_Ð AC-~îû ÷”‡ÅÄ AB ç BC-~îû ¢›y˜ îy îöìvþüy £öìœ– ²Ì”_ ¢îûœöìîû…y‚öìŸîû

÷”öì‡ÅÄîû ¢›y˜ îy£% !î!ŸTþ !e¦%þ‹ xy¤„þy ¢½þî ë!” éôôôé
a) AB + AC > BC   b) AB + BC > AC   c) BC + AC > AB   d) ö„þyöì̃ y!Ýþ£z ˜ëû

2. ˜#öì‰þîûþ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2x10=20

i)     ~îû !“þ˜ ”Ÿ!›„þ Þíy˜ þ™ëÅhsþ xy¢§¬›y˜ „þ“þÚ

ii) x
a(b-c) . xb(c-a) . xc(a-b) = „þ“þÚ   Së…˜ x ≠ 0V

iii) 732 þöíöì„þ ö„þy˜ Ç%þo“þ› ¢‚…Äy !îöìëûy† „þîûöìœ– !îöìëûy†šþœ!Ýþ þ™)’Åî†Å £öìîÚ
iv) (- 8x2 + 8x + 1) ~îû ¢yöìí „þ“þ öëy† „þîûöìœ öëy†šþœ (-14x2 +11x - 3) £öìîÚ
v) îûy› ç ŸÄyöì›îû Ýþy„þyîû x %̃þ™y“þ 4:3 ~î‚ ŸÄyöì›îû Ýþy„þyîû þ™!îû›y’ 42 Ýþy„þy– ë!” îûyöì›îû xyîûç 7 Ýþy„þy öî!Ÿ íy„þ“þ– “þöìî

”%‹öì̃ îû Ýþy„þyîû x %̃þ™y“þ „þ“þ £“þÚ
vi) þ™)’Å¢‚…Äyîû †%öì’îû ¢‚öìëy† !˜ëû›!Ýþ öœöì…yÐþ

þvii) þ›y˜ !˜’Åëû „þöìîûy õ

viii) þ¢îûœ „þöìîûy õ (x2 + 5x)(x - 1) - (x2 + 2x)(x - 1) + 3x(x + 1)

ix) þ~„þ!Ýþ ¢›öì„þy’# !e¦%þöì‹îû ¢›öì„þy’ ¢‚œ@À îy£%möìëûîû ÷”‡ÅÄ ëíy„Êþöì› 3 þö¢!› ç 4 ö¢!› £öìœ– “þyîû x!“þ¦%þöì‹îû ÷”‡ÅÄ „þ“þÚ
x) 9 ö¢!›– 4 ö¢!› ç 4 þö¢!› îy£% !î!ŸTþ !e¦%þ‹ x¤y„þy ¢½þîÚ ë%!=þ ”yçÐ

3. ˜#öì‰þîûþ ¢‚!Çþ® vþz_îû!¦þ!_„þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3x2=6

i) îû!£› ç îûyöì„þöìŸîû Ýþy„þyîû x %̃þ™y“þ 4:3 ~î‚ “þyöì”îû ö›yÝþ Ýþy„þyîû þ™!îû›y’ 700 Ýþy„þyÐ  îû!£› „þ“þ Ýþy„þy îûyöì„þŸöì„þ !”öìœ
”%‹öì̃ îû Ýþy„þyîû x %̃þ™y“þ 1:1 £öìîÚ

ii) vþz”y£îûöì’îû ¢y£yöìëÄ ö”…yç öë– þ™)’Å ¢‚…Äyîû †%’ !îöìFŠé” !˜ëû› ö›öì̃  ‰þöìœ !„þhs$þ þ™)’Å¢‚…Äyîû ¦þy† ¢îÅ”y !îöìFŠé” !˜ëû› ö›öì̃
‰þöìœ ˜yÐ

4. þABC þ~„þ!Ýþ ¢›öì„þy’# !e¦%þ‹ x¤yöì„þy– ëyîû ∠BAC = 900, BC = 8 ö¢!› ~î‚ ∠ACB=450 3

5. ößþñœ ç öþ™˜!¢œ „þÁ™yöì¢îû ¢y£yöìëÄ ∠ABC xA„þ˜ „þöìîûy ëyîû ›y˜ 600þÐ ö„þy’!Ýþöì„þ ¢›!m…!uþ“þ „þöìîûyÐ  CBôéö„þ D
þþ™ëÅhsþ î!•Å“þ „þöìîûyÐ  þ™%̃ îûyëû ∠DBA þö„þ ¢›!m…![þ“þ „þöìîûyÐ  ”%!Ýþ ¢›!m…[þöì„þîû ›•Äî“þ#Å ö„þy’!Ýþîû ›y˜ „þ“þÚ 3
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